20205FRBIIRSEFIERRFETFEESR(RIRZ2—IL50m)
9A208(B)~21B(B) RIRZ—IL(50m)KCHIT
BIRT>R—T1RER BIIRBFENRIGHNELE,
2OL—-2IF, INFHE~KASTEERTHIGHNBKETS.
RIGHSIE, 39BOBEFHBILFSR—1>%BIELTER-TNSLE ! !

ARBHEHE FinldEER

50mBikE 100mE k=
200mBik=
Hir #i =1 155  200miik= 200mBAXRL— Bfi

400mBAXKL— 4fiL
RE & =1 165K 50miie751  4fE 100mie751 il
#FiH 2K =1 15 1500mARR: (21 LiRE) O1iL

400ma mhils 1 200mahf: Sfir
T #SFE h3 155 1500mAhR (210 S




FEE R =2 17%  50miSiks Sfir

L E# K1 18  100mEXE 8 200mFEik= 14

=2 16/ 100mESik 50mg g {14
100mii%751 bOfiL 200miR%2751 Bl
400mga iz Af

R
m
i
>

50mg hifs 3fir  200mBAXKL— 8fl
50mEikE BT 100mEi= Afi
200mEixKE 3fir
200mEikE 8fir

50mIRR2 751 74I
IL—TER 41 0OiRE(SFERISEER)

BF400m7 V-V L— Gt HI FEH LHE)
BF200m7V—-VJL— (ZBE EF HE HH) 3{ir




